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QUESTION 1

What should you use to start the Bl components within your service?
A. start_analytics_suite

B. start_bi

C. start. ORCL_bi

D. start_oac

Correct Answer: A

Reference https://docs.oracle.com/en/cloud/paas/analytics-cloud/acsam/administering-oracle- analyticscloud-user-
managed-environment.pdf (68)

QUESTION 2

You want to create an Essbase cube using a MaxL script. This is the content of the Max! script:

alter system enable unicode;

create or replace application "ASOmaznl" type unicode mode using
aggregate storage;

create or replace database "ASOmaxzl"."Sample”;

alter system unload application ASOmaxl;
alter system load application ASOmaxl;

You saved the script file locally as cubeBuild.mx1, uploaded it to the cloud service, and executed a "MaxL script" job
type. The job failed. What is the problem?

A. Only one MaxL statement per script is allowed.

B. It is an invalid script file. A script file must be saved with a .msh extension.

C. Itis an invalid MaxL statement. "Create or replace database" Is not supported.
D. MaxL scripts are not supported.

E. Itis an invalid job type.

Correct Answer: B

QUESTION 3

Which statement is true when migrating content from Oracle Bl Enterprise Edition 12c to Oracle Analytics Cloud?
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A. At this time there is no option to migrate Oracle Bl Enterprise Edition llg content to Oracle Analytics Cloud.

B. Both the Oracle Bl Enterprise Edition 12c Data Model and the Catalog must be migrated to Oracle Analytics Cloud.
They cannot be migrated independently.

C. You can migrate a snapshot from Oracle Bl Enterprise Edition 12¢ to Oracle Analytics Cloud.

D. You can only migrate an Oracle Bl Enterprise Edition 12c Data Model to Oracle Analytics Cloud. Catalog migration is
not allowed.

Correct Answer: C

QUESTION 4

What should you use to make sure that the model you created is correct?
A. Data Checker icon

B. Validate Icon

C. DB Sync Icon

D. Correcticon

Correct Answer: B

QUESTION 5

You have created a visualization of revenue data over time. It displays some seasonality (e.g. high revenue around
typical holiday periods) but there is no obvious pattern to the data overall. In which two ways can you start to get insight
from this data?

A. Create a trend line.

B. Create a column trellis over the prominent dimension value.

C. Add a filter to remove the oldest data.

D. Create a reference line which displays the average revenue.

Correct Answer: AD

QUESTION 6
What is true about setting up Usage tracking?
A. You need to restart after modifying the connection pool.

B. You need to set up a connection pool in Oracle Analytics Developer Client Tool.
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C. You need to set up a connection pool in Data Modeler.
D. It is only available in Enterprise Edition.
E. It is available in both Essbase and Enterprise Edition.

Correct Answer: ABD

QUESTION 7

Your customer has a hybrid aggregate Essbase cube. They want to be able to model what-if scenarios with hypothetical
data and are considering using the Sandbox dimension. Which two statements represent correct functionality of the
Sandbox dimension?

A. Using the sandbox dimension has storage overhead that would be required to replicate data from the base
environment.

B. The sandbox dimension has one base member and multiple sandbox members.
C. Initially, the state of each sandbox member is #missing.
D. When you submit changes to a base member, changes are seen and stored in each sandbox member.

E. After working in the sandbox environment, you can commit changes to the base environment or even to another
sandbox target.

Correct Answer: BE

Reference https://docs.oracle.com/en/cloud/paas/analytics-cloud/adess/testing-changes-sandboxdimension.html

QUESTION 8
Which two statements are true regarding the source of Oracle Bl Enterprise Edition Analyses?

A. Analyses can be created from multiple subject areas as long as at least one metric Is Included from each, and the
Dimensionality Flag is enabled.

B. Analyses can be created from multiple business models as long as they contain common, conformed dimensions.
C. Analyses cannot be created from multiple subject areas even though they contain common, conformed dimensions.

D. Analyses can be created with measures from multiple physical tables defined as sources in a single logical fact
table.

Correct Answer: CD

QUESTION 9
You have a data set that you wish to use to train a machine learning model in Oracle Analytics Cloud. The attribute you

are interested in predicting has one of two text values (e.g. Yes/No or True/False). How should you perform this
operation?
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A. Create a data flow that includes a step to train a fuzzy prediction model and save the model for later use.
B. Create a data flow that includes a step to analyze sentiment and save the model for later use.

C. Create a data flow that includes a step to train a clustering model and save the model for later use.

D. Create a data flow that includes a step to train a binary classifier model and save the model for later use.

Correct Answer: D

QUESTION 10

Which statement is false with respect to Dashboards?

A. All the Analyses placed on a dashboard must be sourced from the same subject area.

B. Prompts on the dashboards can be shared between different pages of a dashboard.

C. Multiple Analyses can be arranged into different columns and sections with different sizes on a dashboard.
D. Options for the Export and Refresh report links can be enabled globally at the dashboard level.

Correct Answer: A

QUESTION 11

Which option is false with respect to the Presentation Catalog?

A. Catalog Manager is a client administration tool that can be used to view and manage the Presentation Catalog.

B. Object permissions for Analyses and Prompts can be archived along with the object in the catalog.

C. Multiple objects can be archived into a single file.

D. To prevent corruption of the catalog, storage of objects of different types must be segregated into their own folders.

Correct Answer: D

QUESTION 12

Your customer has a requirement to generate a Year-to-Date and Quarter-to-Date report from a Block
Storage Essbase cube. The cube has a dimension that represents Time and includes calendar months as
leaf-level members.

What two steps should you perform to enable To-Date reporting?

A. Enable Dynamic Time Series in the Time dimension and configure Y-T-D and Q-T-D.

B. Ensure the Time Balance functionality is turned on for the cube.
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C. Exclude Quarters from the Time hierarchy.
D. Ensure the dimension representing Time is tagged as the "Time" dimension.

Correct Answer: AB

QUESTION 13

Which action cannot be employed to split one Data Set column containing data with hyphenated strings (in the format of
XXX-XXX) into two columns?

A. Edit the Data Set and select the Create option from the hyphenated column\\'s action menu to invoke the Expression
Editor. Use the String functions to parse and extract the string preceding the hyphen. Repeat for the text following the
hyphen.

B. Edit the Data Set and select the Split option from the hyphenated column\\'s action menu.

C. Edit the Data Set and select the Edit option from the hyphenated column\\'s action menu to invoke the Expression
Editor. Use the String functions to parse and extract the string preceding the hyphen. Repeat for the text following the

hyphen.

D. Edit the Data Set and select the Group option from the hyphenated column\\'s action menu to create two new groups
for each element.

Correct Answer: D

QUESTION 14

Which two statements are true regarding the ways in which Oracle Analytics Cloud provides self- service data
preparation capabilities?

A. The Oracle Data Integrator tool used for extraction, load, and transformation of data is a foundational component of
the Oracle Analytics Cloud and is essential for data preparation.

B. Join rules for mashing up data from relational sources and delimited flat files can only be defined within the Oracle
Analytics Cloud Data Modeler.

C. Data flows within the data preparation feature of Data Visualization can be used to extract, wrangle, and format data
content from all supported data sources to create data sets upon which visuals may be constructed.

D. Data sources can include application tables, data warehouses, data lake reservoirs, delimited flat files, and Microsoft
Excel spreadsheets in the .xIsx format.

Correct Answer: CD

QUESTION 15

What does a confusion matrix illustrate?
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A. a table that reports the occurrences of higher positives, false negatives, lower positives, and true negatives for a
machine learning model

B. a table that reports the occurrences of negative positives, false negatives, true positives, and positive negatives for a
machine learning model

C. a table that reports the occurrences of false positives, false negatives, true positives, and true negatives for a
machine learning model

D. a table that reports the occurrences of upper positives, lower negatives, mid positives, and true negatives for a
machine learning model

Correct Answer: C

Reference https://blogs.oracle.com/analyticscloud/machine-learning-and-data-visualization:-its-all- related
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